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Nate - Atempu fYve questions in all. sclecting one question 
cach from Units-4, II. Ill and IV. Q No. I (Part-A) s 

1 (A Anenpe all questions : 

Part-A 

IMaximum Marks: 70 

(Conpulory Question) 

Fll in the blank spaces : 

) The floating point reproscntation ofa 
number has two parts and 

) Complemcnts of numbers are used in 
digital compuaers for logical manipulation 
und tnlteboperation 

TumOver 



(i) Control word hus 

(i0) The Stack Pointer SP points at the 
4p.. of the stack 

State whcther the satement is Trae or Falsc 
() Prefix nolation is same as Polish Notation. 

(vi) A software interrupt is initatcd by 
executing an instruction. (Truc/Faker I 

Answer the following MCQs by sclecting the 
most appropriate opion : 
(vi) Which logic circuit would you use for 

addressing memory? 
(a) Full Adder (b) 

() In ROM 

bits 

Je Decoder 
(vin) Where the pesult of an urithmetic and 

logical operation are stored ? 
ar In Ac
umulator 
(b) In Cache Memory 

(d) 

(a) Halt 

(d) In Instruction Registry 

Muliplexer 

(b) 

ix) An exCeption condition in a computer 
system caused by an event extemal to the 
CPU is known as : 

(d) 

DMA circuit 

Process 

None of these 



(B) Answer the following in 25 to 50 words : 
How alphanuneric representation is donc 
in a conputer ? 

sn) Write a short note on logic micro 
operations. 

(i) Explain the ierms microinstraction and 
micro program. 

3. 6) 

(v) Explain relative addressing mode. 

) Explain the working of Halt-Adder, 4x5=20 
Part-B 

2 ) Convert the following numbers to the bascs 
indicated below : 

(a) (7968),, = (), = , = ()4 
(b) (4785), = (), = (%, 

G) Perform the subtraction with the following 
unsigned decimal numbers by taking 10's 
complemcnt of the subtrahend. 

(a) 

b) 

Unit-I 

5250-1321 

bit. 

1753-8640 

What do you mean by BCD arithmetic ? Give 
an cxample to cxplain it. 

C-579 

tü) Discus error detction code used in the parity 

(31 

3.2 

55 

Tun Over 



0 

t) Give the contraction of Bus System wth thrse 
state butfers 

) 

6. 0 

tnit-1 

What do you mcan hy Regser Transfer 
Discuss 

Explain the working of 4-bit Binary Adder. 
Write a shot note on Arithmetic Logie Shuft 
Unit. 

U'nit-II 

Whal is an Instraction Code ? What are ts 
Parts ? 

i0) Explaán the conmon Bus System which trunsíers 
information between registers and memory. 

9 ) 

0 Whul inucton Cycle ? Discuss is 
phases 

0) How Register-Relerence instruetions are 
recognized ? Explain. 

C-579 

8. 6) Give the cicuit diagram of CPU and also 
explain its working 

Unit-IV 

(i) Wha is a Control Word ? Name is ficlds 

Discuss the Instruction Farmats of a compater 
system. 

) Ditferentiate between Imlicd and Immediale 
modes of addressing 

(4) 

46 

46 

4.6 

$.5 

64 


